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mudAliplicalion facis for Ahe 8 Alimes
Aabde.

SAart with Filhert {0/;(

https://www.bbc.co.uk/teach/supermovers/ks2-maths-the-8-times-table-with-filbert-fox/z4mrhbk
p
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Look at Ahe /m/u/{/t/i/px{zxs /o/f 8.

Wh.at /p/a/t/tz/r/n/s Ao oM mnotice?

Look at Ahe Aemns {U/r a /p,a/t/t,e/r/n.

Look at Ahe omes /f/a/r a /pa/t/tz/rm.
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Complete these statements.

1 chest contains 8 gold coins.
2 chests contain gold coins.

chests contain 40 gold coins.
10 chests containgold coins.

To {Am,d 10 chests,
we do 10 X 8 =

Monve AX across a columm
and add a zero.
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Which statements match this image?

Look at Ahe ATTAN.

Hom MAMNAy GroMps ,o/{ 8 cam oA make? so2 X 8 =16
Hom MAOMA COAMA ATR Ahere Am AoiaA? 8 X 2=16
We can make 2 QrOMRA ,o/j' 8 6 =2 =8

vl6 + 8 =2
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Which models represent facts from the eight times table?
Explain your reasons.

32 dinvided imto b gromps. 8 in each grousp.
32 <4=8or 32-8=4

AO

5X8 partitiomed womnid give
3X8and 2 X 8 hecause 3+2=25
This moded does not show an 8 Aimes

Aakle fack. The moded is wromg.

This shows 8 QrompA /cr/j" 6
so 8 X 6 = 48
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Now hane a go ail Ahe actinitna.




